Set A Paper 2

3x8=240rdx8=32

set A — Answers

3x4=120rd4x3=12

7°Cto 0°Cis 7°C.
0°Cto -2°C is 2°C.
So, total change is
7°C+2°C=9°C

Eg 16 =2 x 8, so to find
368 + 16, divide 368 + 8 = 46
by 2. '

2°C-3°C=5°C

A _2x9 4 _18+4 _ 22

9779 "9 9 "9

Circumference

12 x 2 =24 ¢cm

| Area of shaded parallelogram

=4 x 12 =45 mm?

Base of unshaded triangle
7—=4=3mm

Area of triangle
0.5%x3%x12=18 mm*
Total area = 48 + 18 = 66 mm?

2 marks for correct
answer, otherwise 1
mark for at least one
area correct,

0.165, 0.62, 5.6, 6.052, 6.4

1,3,5,15

[

Sunday )
Fg Shesaw 24 +4 =6

| blackbirds on Sunday. Fewer

than half the birds she saw on
Saturday were blackbirds, so
she saw fewerthan 12 + 2 = ¢
blackbirds on Saturday.

B=2x4,3505x4=20

2 sketch pads cost

£12.30+3 =£4.10

S0 theg hook costs:
greloo

-£ 4.10
£590

2 marks for
correct answer,
otherwise 1 mark
for a correct
methad.

Angle should be within 2° of 75°,
Correct side should be within
2mmof 5.5 cm,

2 marks for
correct triangle,
otherwise 1 mark
for an angle of the
correct size or a
side of the carrect
length.

A rectangle of 6 tnits x 2 units
OR 12 units x T unit.

Total membership fees
=10x £12 = £120
Cost of 4 x 10 = 40 balls

=2 x £19.78
19.78

X 2
39.56
11 1
Cost of 10 T-shirts = £4,99 x 10
= £49,90
Total cost of balls and T-shirts:
£39,56 \
+£48.90
£89.46
i1
Money left over:
12570

- £89.46

£30.54

3 marks for correct
answer, otherwise 2
marks for a correct
method with one
error or for correctly
finding the total
cost of all the items,
Award 1 mark for
coarrectly finding the
cost of 40 balls and
the cost of 10 T-Shirts.

£5.50- £3 = £2.50
£2.50 + £0.50=5

2 maries for
correct answet,
otherwise 1 mark
for a corract
method.

5+ 40%, 0.1
(5 =0.5,40% = 0.4,
{05 +04+01=1)

Set A Paper 3

AndC

AandB

=x10=

4 —‘%’- = 8 years old

SoTim’s mumis 4.25 x 8
= 3400 + 100 = 34 years old

2 marks for
correct answer,
otherwise 1 mark
for a correct
method.

110300, 102600, 102514,
77800

12 x4 =48

There are 3 + 4 + 1 = 8 halloons
in a packet.
50 she neads 24 + 8 = 3 packets
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Eight millton, Eighty theousand,
Eighty

Set A & B — Answezrs

1.4 kg=1400¢g
1400g - 550 g = 850 g

2 marks for
correct answer,
otherwise 1 mark
for a correct
method.

Number of [oaves given away
=15x4=6
If she sold two thirds, then one
third were given away, so
Number baked + 3 = 5
Number baked = 6 x 3

= 18 loaves

2 marles for
correct answer,
otherwise 1 mark
for a correct
method.

12 cm?

12 x 3 =36 cm?

He eats 21 + 7 = 3 apples each
| day.

365
X 3
Soheeats 1095 applesin
365 days. '

2 marks for
correct answer,
otherwise T mark
for a correct
method.

False, 12 is a common multiple

of 4 and 6.

R=A+3andA=3R

2 marks for
correct answer,
otherwise 1 mark
for a correct
method.

168

458, 462, 464, 455

Change =
E2 + £2 + £0.20 + £0.05 = £4.25
Cost of pencil case and 4 pencils
=£10-£4,25 = £5.75
4 pencils cost:

£5775
- £2.95

£2.80
So one pencil costs £2.80 + 4
=X£0.70 or 70p

2 marks for
correct answer,
otherwise 1 mark
for a correct
method.

You need two bottles for each

litre, 50
£2.67

_ X___2
1 litre of paint costs £5.3 4
11

£5.34
X 4
4 litrescost £271.3 6
Or 11
4 litres = 4000 m]
So they used 4000 + 500
=40+ 5 = 8 bottles.

2 marks for
correct answer,
otherwise 1 mark
for a correct
method.

nine thousand six hundred

12 x 800 and 8 x 1200

10:56 (or 10.56 am)

15 minutes

10:22 {or 10.22 am)

36

2 squared + 4 squared = 20
(since 22 = 4 and 4 = 16)
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